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e About 20% of the ele J&'
the world is generated in nucle:
plants. Australia does not | hav
nuclear power plants. Our of
reactor is a small researc ‘j}_% 1
Lucas Heights in Sydney. This
provides radioisctopes for

medicine.

s One kilogram of uramum
much energy on fission a

by the combustion of 2
coal.
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The weight of a body is
mass. Weight is a force X[
body when placed in a g 4
Weight is measured in H ..
newtons (N). The welg
Earth’s surface is measy,; |
balances called newton mete

The mass of a body is )" ay.
its weight varies accord ,_
of the gravity field. Thu a:i 1C
weighs more on Earth than'o

N 1=

gravity on Mars is muc e_(;-.;; '






Gravitational a
The strength of the gravi ty fie

can be measured in terms.
gravitational acceleration (g
the planet or astronam

greater is the gravntatia qul
surface, &
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